) R —
o =1 " m——— 1
" | (H’ o .;,‘,)e dr 15 equal s
o [3€E Mam 20147]
T = T( 1+ X :.L}e_ﬂ * A &
%= o
! S &
~ o o
T=le *"gp~ \zfi-3\e=,, - ¥
L ) - &
~ J
j A = 3
Cer The .‘:UT;((Jc]")T) b‘\l }{ [~
TS ke by bavt a
k= |xf1-1\" %, S
T aF) = -
_
\ 5t L J" = %
k= % {['"-)X\e "4 = {&2ii-1\e % +c
) & A%J\ L}i’, J dx :
J
%
K \oA N g e E
—+ 1 = -+t
let X ~ t Lhen = “\( ’-;‘b).? xax B
(\‘ ~ L )dr =dt % e
B ‘ = ‘fkcﬂ: = e{f .
) ¥ T ) %
, g = Le"’(e_xtdl g C 1
J —
Novﬁ, I Pt oot ) ) L
L = |€ d + xe T - 3 e
- _‘: -
yT—— .
I = 'X/ex z .  #

T E R R PN G VR e R T R R T e g S S S T

i

AP st R




{ "type": "Document", "isBackSide": false }

